m:oi XNTd

0000T 006G 0 000G—
I _ I O
— — 002
- - |
I =~
B ] N ()
- I s =
— — 00% o
- _ =t
(@]
L H T fA
— = —{ 009
€0+400269°'T€0+H918LE T~ ¥0+dT1L90€'T ~¥0+d0E9G0'T —:gd10Ud
CO+HOT169 1" E0+dAYS092' T~ ¥O+HEVIOE 1~ ¥O+HEBSLO T—1dI0Ud
EO+HS1GSL 1 E0+d21SER T “¥0+HLYL02 1 “E€0+H26LES 6—4VIoUd
E0+dBQ8eL ) [EQ+A V4 Y08 ~¥0+38Q2 e | ~£0+AS6LES 6—;1 Vioud
T:i Y
A 0 8
= I I _ I I I _ I I I _ I =
i | 000¥ W
(V)
=3
=)
000c— g
=
-
=
0 c
%
>
0002 m
| 1 MQANIM - 2 EEzE- —
— 1 1 1 1 1 1 1 1 1 —

09 0d -suoljels

0 :20Uua1dg oJdg
NSIYd ‘WstaH

(Ar-

MOONIM V “10Yd—

2 MOdNIM g "ioud 2
I MOAGNIM 8 "oud |} MOGNIM Y "0oud3
1 1 1 1 1 1 | 1 1
HEio_,«
cl 1 8

rprrrrpd I.I‘ I___J_:I__Iil__;%u__l__:l?lr__L,l__!__

;.
I | K|

| 1 1 _
GC BV I0LLE—

SN
1%)-09-81:22~1VD/9

0
=
5
or 2
>
02 3
-+
O
oe 3
—+
<
0¥
>
o
05 &
0
10
20 S
i,
o,
€0 =
<
¥0
S0



